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MMSE (Mini-mental state examination,
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= CERAD-K (the Consortium to Establish a Registry for Alzheimers Disease,
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—%I_z (2): 0 15 16-30, 31-45, 46-60
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= MHAZI(MMSE-KC)
« A4 30689, 2I%[*{5}: 3068

HetE(h) | 252(%)

Decision Tree 95.2 4.8
Random Forest 90.1 9.9
Support Vector Machine 89.8 10.2




= HUAZI(CERAD-K)
+ AP CHASRL: 1372%, BICHARL: 1376%
 HlARRRE 17230t oLt HlofEfe] B2 BH47| Sio Bloletg £

k(%) 2 2-8(%)

Decision Tree 92.3 7.7
Random Forest 96 3
Support Vector Machine 85.1 14.9




. oA Hat

= X|0f: 5739, x|of D2|3: 730

g=t&(%) 2 F2(%)
Decision Tree 65.3 34.7
Random Forest 60 40

Support Vector Machine 66 44
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= Z|of(=[of+2]of 2.9{%): 13035, /S (2AER! BIESRH+787%) 1 12055

H2tE (%) 2 F2(%)
Decision Tree 89 11
Random Forest 93 7

Support Vector Machine 75 25
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